
PA 546  FINAL EXAM
Exam is due on midnight of Tuesday, December 13 (i.e., at the end of Tuesday).

Problems

Show your work in as much detail as possible.  This will allow me to give you partial credit even if your answer is wrong.

Problem 1 — 15 points

The following data are for the town of Homestead:
Budgeted town expenditures





  $18,000,000

Estimated revenue from all sources other than property taxes:
    $6,000,000

Market value of all taxable property:




$284,000,000

Assessment ratio:







   40%

a)  What is the town property tax rate (in %)?

b)  The Smith family has property with a fair cash value of $150,000.  The family is entitled to a veteran exemption of $3,000.  This exemption is subtracted from assessed value.  What is this family’s property tax bill?

Problem 3 (HW Ch 15) — 15 points

A State General 15-year Bond issue pays a 6.5 percent coupon rate annually, and has a face value of $10,000.  The Bond was issued exactly 3 years ago.  Today, the market interest rate for similar risk and maturity bonds is 7 percent.  What is the current price of the bond?

Questions

Answer the questions fully (be sure to address all parts of each question)

Question 1 (HW Ch. 16) — 10 points

The city of Saratov has $895 million in its public employee pension fund, a defined benefit program that has only recently reached a fully-funded status.  The city council proposes to loan $95 million of that fund to a struggling bus manufacturer in the city as a part of the growth and development plan.  The council chair supports the proposal as yielding a double dividend to the city.  Not only will a high interest rate be earned on the investment but also the city will be stimulating growth of its tax base.  As city finance officer you must prepare a position statement on the proposal.  Do so.

Question 2 — 20 points

Discuss how the principles of correspondence and subsidiarity, and how other considerations, such as equity, apply to the funding of basic (primary and secondary) education.

Question 3 — 20 points

Many states have declared tax holidays, in which the state does not collect sales taxes on certain items for a short period of time.  In most instances, the holiday has been for clothing and the period has been a week or ten days.  Usually the purpose of such holidays is to give a “back to school” discount as families get ready for the new school year.  Analyze the impact of such holidays in terms of:

a)  Tax yield;

b)  Equity;

c)  Administration and compliance;

d)  Economic impact.

Do you think these holidays make sense?  If so why?  If not, why not.
Question 4 — 20 points

Why is borrowing an appropriate financing instrument in at least certain cases?  Discuss one specific example in which borrowing is more appropriate than pay-as-you-go as a financing strategy.  Are there any circumstances under which deficit financing for operational expenditures is an appropriate policy?

